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examination. Candidate will be liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.
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question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

7. Each question has four alternative responses marked serially
as (A), (B), (C), (D). You have to darken only one circle or
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1.

(A) Mg

Which of the following relation gives

equation of Gear ratio in Gear drive ?

(A) No. of teeth on Driven Gear / No. of
teeth on Driving Gear

(B) No. of'teeth on Driven Gear x No. of
teeth on Driving Gear ‘

(C) No. of teeth on Driven Gear + No. of
teeth on Driving Gear

(D) No. of teeth on Driven Gear — No. of
teeth on Driving Gear

Freferfea & & % a1 dey firx gea §

iR SruTa 1 el S R 7

(A) Tgom firr o glal 1 w@n / gsfam
v W it < wem

B) @?ﬁmmﬁaﬁ%mxw
R W efal Hraem

(C) Tgam firr W <fal A der + grefim
fre w 5Tt <Y wen

(D) T3 firr o gTat i @ - grgfin
e w gl < v

Which of the following is a type of power
transmission drive, generally used to
drive Superchargers ?

(A) Rope Drive  (B) Shaft Drive
(C) Belt Drive (D) None of these
frafafes 3 @ #9 @ & TR 1 9iw

TR g B, S STHAR R gRET
TET % T SuanT R e @ 7

(B) I gIES
(D) T & g T

Which of the followmg is not a type of
Friction clutch ?

(A) Single Plate Clutch

(B) Cone Clutch

(C) Centrifugal Clutch

(D) Fluid Flywheel

freafoRaa

R B A1 G W B b
A TE B ?
(A) R <te &= (B) W w9
(C) IuFf o™ (D) WA RIS

(C) e g
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4.

6.

Rolling resistance of wheel is directly
proportional to which of the following
parameters ?

(A) Load " (B) Speed

(C) Acceleration (D) None of these
ufgr =1 e sty frefeRes 3 @ fra
Pt & Y srgurfees & 7

(A) ®rE - (B) Tfd

(C) (D) ¥ & 1§ T

In the given equation below of torsion,
what does “J” represent ?

T_G8
J L
(A) Torsion
(B) Polar Moment of Inertia
(C) Modulus of Rigidity
(D) Shear Stress
T0E % A9 Ry g §, vy wn
UGIE I
T_Go
J L
(A) WA

(B) yeft srge et

~(C) gEaT T

(D) 3T9EqYr Sfereret

Which of the following is unit of Torque ?
(A) Newton x Meter '

(B) Kilo-Watt

(C) Newton/Meter

(D) Kilowatt/Meter

Toreaforfe & & %1 o zr% BT 7

(A) = x He
(B) frent-ame

(C) /"R
(D) ferettane /Htex

:
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Which of the following law states that
“At constant temperature, the volume of

a given mass of gas is inversely
proportional to the absolute pressure.” ?

(A) Gay-Lussac Law(B) Boyle’s Law
(C) Avogadro’s Law(D) Charles’ Law
frafoafes o @ &9 o fam wgar 2 f
"R amE W, T8 % o T gEmE w5
T I e % SFohATa gt | ?
(A) R-gas fmm  (B) &g %1 fem
(C) g 1 fEm(D) e w1 faam

Which of the following law states that
“The pressure of a given mass of gas
varies directly with the absolute
temperature of the gas, when the volume
is kept constant.” ?

(A) Gay-Lussac Law(B) Boyle’s Law
(C) Avogadro’s Law(D) Charles’ Law
frafafgada s arfrmsgara fs "o
% fu e g w1 gaTE w9 A9 % froe
A o WY IEAAT AT 7, T I
fRerwa? 1" ?

(A) t-gow frm  (B) wiae w1 fem
(C) g fem(D) wTed w1 fem

Which of the following law states that
“The volume occupied by a fixed amount
of ‘gas is directly proportional to its
absolute temperature, if the pressure
remains constant.” ?

(A) Gay-Lussac Law(B) Boyle’s Law

(C) Avogadro’sLaw(D) Charles’ Law

Paffga i ds o em w2 i e
$ ws Afaa gnn #1 Ia 36 Py

AT 3 WS SR et R, TR

Rrwag " ?
(A) t-gew fam  (B) s @ fem
(C) a1 fem(D) <ol w1 foram
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10.

11.

12.

13'

“The pressure exerted on a liquid is
transmitted equally in all the direction.”
Which of the following laws states the
given principle ?

(A) Pascal law

(B) Bernoulli’s law

(C) Newton law

(D) Thermodynamic law

@Wmmwmmﬁﬁmﬁrﬁ
U &9 @ TG g g | Fefafea §
i a1 frm feg e fagra ot s @ 7
(A) Ureshet frm

(B) =gt 1 fam

(©) =g T

(D) Ssmrerht fam

Which of the following law of

thermodynamics is used to understand
the concept of energy conservation ?
(A) ZerothLaw  (B) First Law
(C) Second Law = (D) Newton’s Law

FA! TGO T FTURON HI GH & f7¢
FTfeehl & frafafga d @ fpa fam s
I ReET AT R 7
(A) ¥ &1 o
(©) T@a frm

(B) wee fem
(D) =g %1 fam
Which of the following law of
thermodynamics gives concept of
temperature definition ?

(A) ZerothLaw  (B) First Law

(C) SecondLaw (D) pharles’ Law
FrTieht @1 Frferfea o @ @9 e frem
ATYHT GRATST hY SFFUTT T & 7

(A) I@wHTm  (B) ween fFrm

() gau Fram (D) IR

Which of the following law of
thermodynamics gives the prmmpal
concept of Thermometer ?

(A) ZerothLaw  (B) First Law

(C) Second Law (D) Boyle’s Law

Fearfeeh! 1 fFrfaRea & @ % o frm
ermiefiet Y I YT TR ?

(A) @Hm B) vgen Frm
(©) gau fram (D) e =1 fem



14.

15‘

16.

17,

Which of the following law- of
thermodynamics gives the concept of
Entropy ?

(A) ZerothLaw  (B) First Law

(C) Second Law (D) Kirchhoff’s Law
FeAnTieeht w1 fferfaa § | @i o1 fem
T Y Fraremon a1 R ?

A) swfFEm (B) ugen fam

©) ggufmm (D) Ferears = fram

In which Thermodynamic process is
there no flow of heat between the system
and the surroundings ?

(A) Iso-Baric (B) Iso-Choric

(C) Adiabatic (D) Isentropic

- fpu omfermfis wiear A fiww ok

sfRv S e EE TS S ¢
(A) JTgEI-sfEE  (B) ATEAN-HING
(C) Weaefes (D) eI

In Otto Cycle, Heat addition is done at

- (A) Constant Pressure
- (B) Constant Volume

(C) Constant Velocity
(D) All of these

W@Wﬁ,@z@mmm%
(A) RrREEE R (B) FRRImE
(C) Rranw (D) Ao

In Carnot cycle Heat engine, if the source
temperature is increased, efficiency

(A) Increases (B) Decreases
(C) Remains same (D) None of these
T =3 Ee For H, AfE Eia 1 e wg
fnemme, diegar |

(A) st 2 (B) uh B

© @@z (D) FHASETH

18.

19.

20.

-“It is impossible to construct a device

which operates on a cycle and produces

no other effect than the production of"
- work and the transfer of heat from a single

body.” the said statement is given by
(A) Carnot (B) Kelvin-Planck
(C) Clausius (D) None of these

" U ITHTT T IO T TS § N U
H T HIT ST § R B H IeqreH
IR s & Ao & o9 F =T H
TS HIE 3T WTS g1 T e} | IR
Y fohees g fem mn @ 7

(A) HH (B) ¥eaa-<iw
(C) wirg (D) T 4 HE TE

Which of the following is not a process
happening in Carnot cycle ?

(A) Isothermal Expansion

(B) Isentropic Expansion

(C) Isentropic Compression

(D) Isobaric Expansion

faferRaa & & = €t %! w56 3 89 areh
Wi R ¢

(A) ITTEHIYHSA TER

(B) HTEHZIMH JER

(©) arsﬁaﬁasaﬁ:ﬂ

(D) ITTgHISE TR

“It is impossible to construct a device -

which operates on a cycle and produces
no other effect than the transfer of heat
from a cooler body to a hotter body.” the
said statement is givenby =
(A) Carnot (B) Kelvin-Planck
(C) Clausius (D) None of these
T IYHTYT T FmTor AT SN T
% T GEIfera grar 8 3R wH S8 Rog @
T TH g § FT % AR F e
I 3T N TET 3e1 A {1 I ke
forwes g e mn @ 2 .
(A) HET (B) *feaa-wis
(C) wlfeE (D) T & ¥ e
1]

i 109C

21.

22.

23.

24.

Which of the following refrigeration cycle
is used in vehicle air-conditioning ?

(A) Vapour Absorption Cycle

(B) Vapour Compression Cycle

(C) Brayton Cycle

(D) Rankine Cycle

e TR-HigwRm & ﬁﬂﬁ’fﬁgﬁ H 8 HA

a1 wefiee sk S R sran & 7

In Otto cycle, with an increase in compression
ratio the thermal efficiency

(A) Increases (B) Decreases

(C) Remains same (D) None of these

et w3k H, gftew oua ¥ gig § o
g

(A) W&t ] (B) Wt g

(C) s & 8 (D) ¥ @ S5 T

Otto cycle Engine is also known as
(A) SIEngine (B) CI Engine
(C) HCCI Engine (D) None of these

TS Arsfee g9 ! forg I & oft ST
SR ?

(A) SIgSH (B) CIFH

(C) HCCIFH (D) $8 A4 %15 &

The process of driving exhaust gases, out
of the cylinder and replacing it with fresh
air in two stroke engine is called

(A) Ignition

(B) Injection

(C) Engine Cranking

(D) Scavenging

Q) ©re 39 4 Rreiet @ ferma figi o e
e o Tl g1 & ween ‘cﬁ BIEI

ST 8
(A) 3fimm (B) oM
(D) =

(C) o Shieh

wsc JE8

WANROAMID WL OR W KRB AR WAL AL TP i YT AT AR M AR TN

25.

26.

27.

One power stroke is equal to how many
revolutions of crankshaft in four stroke
engine 7 .

(A) One

(B) Two

(C) One Half

(D) Varies as per speed

T =Iq: TN 5o T Weh UTeR TIeh shensTToe
¥ fora Toeht & SUSTRIAT 2 7

(A) T

B) T

(C) Tep 3 37

(D) 7T % SFIE SEeraT &l € |

Which of the following terms is a condition
when the inlet valves are made to open
certain degrees earlier than to top dead
center which enables air/air fuel mixture to
fill the cylinder to its capacity ?

(A) Valve Overlap (B) Valve Lag

(C) ValveLead (D) Valve Lapping
freferfian & & o o srewen 8 9@ e
aTed @ 3T 38 dex Y gor # 5o feh
TE Wi o Fore ST e | S g /9y
Sert firsror <Rt fretet oht Serehl graT e WA
dogm e 7

(A) 9169 IRAY  (B) dTed @1

(C) dTea &g (D) aTea Aftm

Which of the following option enters
inside the combustion chamber in Four
Stroke Spark Ignition Engine during
Suction Stroke ?

(A) Air + Fuel

(B) Air + Fuel + Lubricating Oil

(C) Only Air

(D) Air + Lubricating Oil

Frafafea 3 @ =5 a1 faser mm €
& QU BRI Tk 3HH 99 9 g8
Y o I AV AT ] 7

(A) 1 + $

(B) 91 + 7 + Vg aw

(C) *aet a1

(D) 91 + & ae



28.

29,

30.

31.

Which of the following is used as cross-
sectional shape used in Connecting rods
of IC engine ?

(A) T shape (B) C shape

(C) L shape (D) Ishape
frafefea & @ fraes 3w IC TR 6
FHAF Ugh o T Shig-TaAe ITHT
FEIT fFar @ @ ?

(A) & AR

(B) # 3R

(C) T ATHR

(D) 3TE IR

Which one of the following engine
lubricating oils has maximum viscosity
range ?7

FaffadafFa o % wes aa o
3tfersham vaTaT A B R 7

(A) SAE 15 W40

(B) SAE10W 30

(C) SAE10W 40

(D) SAE5 W 20

The size of Inlet Valve is than
Exhaust Valve.

(A) Larger

(B) Smaller

(C) Equal

(D) Varies as per type of Engine

YW 99 1 AR aea A

BT |
(A) W=
(B) Bt
(C) &=
(D) 39 % TR % AIUR Tqerdl &M 8 |

Which of the following is correct full
form of CRDI ?

ferfafem # 4 CRDI T e T & § 7

(A) Common Rail Direct Ignition
(B) Continuous Rail Direct Ignition
(C) Common Rail Direct Injection
(D) Common Rail Diffused Ignition

32. Which of the following component

33.

34.

3s.

drives the distributor of battery ignition
system ? ;

(A) Additional Motor

(B) Oil Pump

(C) Cam shaft

(D) Flywheel
frafafaa & @ #5F @ g 9 3fimm
e & fefieg H e 8 7

(A) ff A (B) d@ W9

(C) 9 ww (D) wATEEA

The shape of a Four-cylinder engine
distributor cam is

(A) Hexagonal (B) Octagonal
(C) Triangular (D) Square

IR -foelet $5 foates 50 7 TR 8

(A) ST (B) 3rEahiviia

(C) Frepivfig (D) =t

Which of the following is correct full
form of MPFI used in Engine ?

(A) Multi Point Fuel Injection

(B) Maximum Point Fuel Injection

(C) Motive Plus Fuel Injection

(D) Multi Point Fuel Ignltion

frfafga & @ %19 59 9 WY MPFI &1
EERURE K

(A) A TS WA R

(B) Herefom Uise R Foioe

(C) TS e TS §ieeT

(D) W vifge RIF F= e

If first stroke is suction stroke then fourth

~ stroke of a 4 Stroke IC engine is

(A) Combustion Stroke

(B) Compression Stroke

(C) Power Stroke

(D) Exhaust Stroke

4 W IC 397 1 IR 8o | g
P, A g 7

A) EEH  (B) TR
©) TEF (D) THAES

E1
& 109C

36.

37.

38.

39.

Which of the following component of
engine is not located in Engine Cylinder
Block ?

(A) Piston (B) Connecting Rod
(C) Gudgeon Pin (D) Rocker Arm
frfaRea

Y 59 BT B T UTH 9
fetet s o fr i 8 7
(A) foeea (B) HAfa U
(C) TH = (D) Ueht 3T

Which of the following is a function of
heater plug ?

(A) Warm up Fuel Pump

(B) Warm up Combustion Chamber

(C) Warm up Injector

(D) Warm up Valves

R i d I T AR T HFHR G ?

(A) o= 99 Y T L |
(B) T&T & I TH Bt |
(C) Fleret &l TH & |
(D) e 1 TH e |

In Valve timing, the period during which
both the valves remain open is called

(A) Open Time (B) All Valve open
(C) IN-OUT Open (D) Valve Overlap

aree gl 8, fra sraftr 3 S gl aTed
GAEAE, U FNHEAE 7

(A) AEITEH  (B) AT ed A
(C) FHA-3T3E WA (D) TTed AT

Which of the following component heats
incoming fuel and air to encourage
efficient fuel combustion in a diesel
engine during cold start condition ?

(A) Fuel Rail (B) Fuel Injectors
(C) Glow Plugs (D). Spark Plugs
i e # foufe % gom doa o ¥

FUS ST G 1 TiedTied W % g |

PrefrRaa T B o1 Uew 3 I o
3R ger 1 7T T R 7

(A) @ (B) Fua Soa
(C) &R v (D) T &

109C Eﬂ”‘%
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40.

41.

42.

43.

Which of the following is direct engine
cooling method ?

(A) Water Cooling (B) Air Cooling
(C) Oil Cooling: (D) All of these

frerfeafea o @ o ot SR 99 sfiaeH
fafug 7

(A) 9 Sfiaem (B) Y Siaed
(C) desflaem (D) I=sh

Which of the following is a method of

coolant circulation in Thermosyphon

type cooling system for an IC Engine ?

(A) By force feed of water

(B) By gravity of water

(C) By density dlfference of hot and
cold water

(D) All of these

freffea # @ i w g o % fog
TS YRR & S Joredt § sfiaeres
e H T g 2

(A) T SoRfEE ST gRa

(B) W1 3 TBTeRNTT G
(C) T 3N 3R Ut % T S A

(D) ug eft

What -does 2.0 “L”
Specification indicates ?
(A) Fuel Tank Capacity
(B) Engine Capacity
(C) Oil Sump Capacity

in Vehicle

(D) Boot Space

e farfirgar # 2.0 “L” o quiaT ® 7
(A) S dF gmar (B) T Ew
(C) A G &mal (D) qE

Which of the following material is used
for manufacturing exhaust manifold of an
IC Engine ?

(A) Cast Iron

(B) Copper

(C) Plastic

(D) Vulcanized rubber

IC 394 % to Sgg@s & fmin & fog

maammmmm

IR ?

(A) F= TR (B) I |

(C) wnfees (D) TEHATESE W -
= }



44.

45.

46.

47.

Which of the following system is used to
provide lubrication before starting
engine, in order to reduce wear and tear
due to dry run ?

(A) Open Cooling system

(B) Splash type system

(C) Pressure Lubricating system

(D) Pre-Lubricating System

1 T % H0 77— ) B B F g,
591 [ H | Uge TE TEH B % g
Frefafea # @ fpg yorrelt w1 35 R
TR ?

(A) e i e

(B) TN Yo freed

(C) gome wig foreem

(D) @ e ferem

Which of the following term is the lowest

the temperature at which wax crystals
begin to appear in a liquid ?

(A) Flash Point (B) Fire Point

© Cloud Point (D) None of these

=5 9 i a1 ue g e arm & R
Toreht g 3 w3 et Res e § 2
(A) M@ (B) BRUWEE
(C) ¥ee @rge (D) T8 & g TE
Which of the following is used as
antifreeze solution in Vehicle Cooling
System’s coolant ?

(A) Graphite (B) Diesel

(C) Ethyl Glycol (D) Hydrogen

=t e freed o geie § ffefaa #§
¥ Torerent ST TARRS dieqeE % w9 i
frnsm g ¢

(A) THrEe (B) €&

(C) Tt el (D) EES

Which of the following term is the power
developed inside the cylinder of an IC engine ?
(A) Indicated Power (B) Friction Power
(C) Brake Power

frafafea & @ #9 @ o IC F99 %

Toretet % aiew foesfea €19 areft wre @ 7
(A) ¥ uaR  (B) = urR
(C) S UTeR (D) IUTTH YT

(D) Awvailable Power
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51.

8

49.

50.

i48 Difference between indicated power and

brake power of an IC Engine is known as
(A) Rated Power (B) Friction Power
(C) Engine Power (D) None of these
@ IC §91 h gua Iar 3R S qrer F
T AR o1 AT HE T8 7 _
(A) Ts TR (B) wur UreR

(C) ¥H IR (D) ¥ @ %iE et
Which of the following term is the ratio
of Brake power to Indicated power of an
IC Engine ?

(A) Thermal Efficiency

(B) Mechanical Efficiency

(C) Air Standard Efficiency

(D) None of these

frefafeada s oy w ICc S H

Sieh Te 3R gfeehee UTeR T 3T 2 7
(A) e garT  (B) itk gaa
(C) 9 A g&fa] (D) 96 4 I3 &t
Which of the following option is
hypothetical pressure thought to be acting
on the piston throughout the power stroke ?
(A) Indicated mean effective pressure
(B) Specific output

(C) Volumetric output

(D) Volumetric efficiency

frfafea & @ = o1 foepey W’F‘Jﬁiﬁ
TETE AT A1 8 S QR UTa T % SN
T meR F@ g ?

(A) Hiwra H1er g garE

(B) Tof¥re atmsege

(C) ATl 33>

(D) IrIaie ggre

Which of the following is the ratio of
actual volume of air during suction stroke
to the swept volume ?

(A) Air Standard efficiency

(B) Specific output

(C) Volumetric output
(D) Volumetric efficiency

ﬁw%ﬁgaﬁ%ﬂww@m%amm%

gmﬁ%m FHTEEH 1 TEfia TR & I
?

(A) %%?WEW

(B) SRS

(C) TRl 3M3eYe

(D) Al garar

B 100c

52,

33.

54.

55.

Generally, Thermal Efficiency of Petrol
Engine is as/than Diesel Engine. -

(A) More (B) Less

(C) Same (D) None of these
IR W, Uit $97 <R ardier e et
S5 < gorT § ik A
(A) s (B) ¥4
(ORCLIE (D) FHAPETE

Which of the following method can be
used to measure indicated power of an IC
engine ?

(A) Dynamometer (B) Morse Test
(C) Ultrasonic test (D) None of these

IC $5 Y 3Rehes TR H A F forg
foreferfiga o @ fora ferfty w1 o s s
THAT R ?

(A) TR (B) AR

(C) regraife wlemr (D) 1 & &Ig 78
Which of the following is kept constant
during performmg Morse test of an IC
engine ?

(A) Engine speed

(B) Temperature of exhaust gas

(C) Pressure of exhaust gas
(D) None of these

IC S5 %1 91§ w{aw s ¥ ERE
freforRea o 4 fopl R T@ET ST B 7

(A) 5 Fi Tl

(B) = A% =1 AT9H

(C) A N w1 ga ™

(D) T A RE AL

Which of the following methods cannot be
used for measuring power of SI Engine ?
(A) Morse Test

(B) Dynamometer

(C) Willan’s Line method
(D) None of these

SI 39 &) arat w1 % fore Frefefaa 8 @
form faftr =61 S i R s wspa 8 7
(A) HE T

(B) SRAMIHI

(C) Torem it v fafyr

(D) T | % 7

109C &

57.

58.

A PP T WAL THARBSGS TABHOTD WM THIAIIASS WO NS TR

56. Which of the following methods cannot

be used to find Frictional Power of an IC
engine 7
(A) Morse Test

(B) Dynamometer

(C) Willan’s Line method

(D) None of these

IC 35 & ol weR §1a H % oY
frfafen o @ fra fafr =1 swm
e s EwaT ® ?

(A) T =

(B) SEATHIR

(C) Torem it e fafyr

(D) T & ¥ 7t

Willan’s Line method is also known as
(A) Morse test

(B) Fuel rate extrapolation method

(C) Motoring Test

(D) None of these

forerm < T ught = e am | oft w0

AR ?
(A) HiE =

- (B) 3o X wwaeNA il

(C) AR TR

(D) TR A T

What is the ratio of actual thermal
efficiency and air standard efficiency
called ?

(A) Volumetric efﬁc1ency

(B) Air standard efficiency

(C) Relative efficiency

(D) Mechanical efficiency
STEfereh AT gaaT 3R 9Ty W SEIET %
7T ! FITHEA & 7

(A) At qarm

(B) AT | q&Ial

(C) \To% gara

(D) =itk gara



59.

60.

61.

62.

The property which is an indicator of the
combustion speed of diesel fuel and
compression needed for ignition is called
(A) Octane Number (B) Viscocity Index
(C) Cetane Number (D) Volatility

I8 1 N et A F e H ifa ik
TEE % foTT ST mﬂgq %1 g9 8,
HETAT 8

(A) 3TerA T
(C) #Yew s

(B) YW I
(D). arsasfierar

Which of the following options is the
unburned fuel and other products of
combustion, leak between the piston
rings and the cylinder walls, down into
the crankcase this leakage ?

(A) Blow by gases (B) Exhaust Gases
© Scavenging (D) Soot particles
Frafafea & @ =9 @1 faew 2 famn s
¥ 3N g8 & I 3G, T F oo
3R foeigt it Sant & e fam, SHeea
% = g fame ?

(A) Trel g amaue (B) WA

(C) r9HTSH (D) hiferd o

Which one of the following is the correct
full form of E.G.R. used in Engine
Pollution control ?

freferRea & @ % a1 S wqwor foreror #
TIREGR HES &I 7

(A) Engine Gas Recycle

(B) Environment Gas Recycle

(C) Exhaust Gas Recirculation

(D) Exhaust Gas Regeneration

Which of the following expression is
correct for an IC Engine Power ?

IC &5 9reR & foe rafafam s e e
=Tk wE R 7

(A) BHP = IHP - FHP

(B) BHP = IHP + FHP

(C) BHP = IHP / FHP

(D) BHP = IHP x FHP
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63.

64.

65.

|
|

|

|
s
|
|

|

|

|

Which of the following method is used to
measure HC emissions of vehicle ?

- (A) FID (B) CLD

(C) NDIR (D) All of these
T % HC Iwas &l o & o
frefRea % @ fra ﬁ:ﬁ%t T IgANT R
SR ?

(A) THATEE (B) e

(C) TR (D) 3 aoft

Which of the following is a correct full
form of CLD used for Exhaust gas
Detection ?

(A) Color Light Dispersor

(B) Chemi-Luminescence Detector

(C) Carbon Luminescence Detector

(D) Carbon Light Dispersor

e i Fe2aT 3 R semrer g
1 CLD %1 98l & % frferfea & &
HAATE ?

(A) HER TS foomk

(B) Fft-wfrdim fedwex

(C) e gfrdg fedwe

(D) e oTge feemeit |
Which of the following is the purpose of
using selective catalytlc reduction in
vehicle ?

(A) Toreduce NOx(B) To reduce HC
(C) Toreduce CO (D) None of these -
Frfoftaa # & win are i aafR Fefals
TrETT 1 ST HA HT I ?

(A) NOx %! %9 % & forg

(B) HC ! =0 %1 3 forg

(C) CO = &9 % % forg

(D) & A =g A&

Bharat Stage emission norms based on

European Norms were first introduced in
the year of

A 7T W TR TR W Iewrei

HTeS ugel) 9 fra ad & dw fpu e & 7
(A) 1990 (B) 1995
(C) 2000 (D) 2005

.
109C

67.

68.

69.

70.

Which of the following stage was
skipped in emission norms to match
European norms as well as to drastically
reduce exhaust emissions ?

(A) BS-1 (B) BS-3

(C) BS-5 (D) BS-6
f=fofaa & @ = a1 =t b ArEEn
¥ A @H % q-g1Y e ses W
HTH HH HA & T Ieee AEEE! H Big
fam o 7 |
(A) dfiwm-1 (B) ®ew-3

(C) #fiwm-5 (D) weE-6

In which year was BS-6 applied Nation-
wide ?

(A) 2018 (B) 2019

(C) 2020 (D) None of these
HeE-6 i G H Torw a1 @nY fera T
e

(A) 2018
(C) 2020

(B) 2019
(D) @ %3

Which of the following is correct full
form of PUC for vehicle ?

frafafga & & % aa & g PUC #1
TR EIR ?

(A) Pollution Under Control

(B) Private Utility Certificate

(C) Pollution Understanding Certificate
(D) Polluted Under City

Which type of wheels cannot be used
with Tubeless Tyre ?

(A) Disc Wheel (B) Alloy Wheel
(C) Wire Wheel (D) None of these
TS T % Wy forw R % ufyE
39 €T T S wehe € 7

(A) Te&= =i

. (B) T A

(C) T e
(D) T8 & HE T

gL ' f
1sc 32

T S WAIRDS TS THIRRINGS VHImLISOR RN TGRS AT (OIS TRt
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71.

72.

173.

What does the ply rating of tyre refer to 7
(A) Tyre Rated strength and capacity
(B) Recommendation of tyre pressure
(C) The actual number of plies

(D) Aspect Ratio

TR Y welrs o war ewidi R 7
(A) TRR e g 3T o
(B) TR TuTa oY I

(C) w3 ! ITEaferes |
(D) e S

Where will an overinflated tire tread wear
most ?

(A) Near the corner edges

(B) Near the center

(C) In the cross direction

(D) None of these

Th NGRS TRR e Tl Afres sl
affa g g ¢

(A) I RFAR & I

(B) %5 % I

(C) wia fem s

(D) T A 15 TE

What is the purpose of tyre rotation in
automobile ?

(A) Reduce bump

(B) Equalize wear

(C) To increase the stiffness of tyre
(D) Avoid ply separation
S ICIEICIE]

3 TR YT T IR 1R ?
(A) RFAR|
(B) R gum s |
(C) TR h! I I 5T |
(D) TS 3TeFTE ¥ &9 |
What does 205 represent in the tyre
specification : 205 /55 R16 75V ?
(A) Aspect Ratio
(B) Section Width of tyre
(C) Wheel rim size
(D) Speed Rating .
ZrR fafder : 205/55 R16 75 V & 205 =10
TuaT 8 2
(A) 3T RN
(B) TRRFI FHE aﬁglé

(C) = T agw

(D) T



75.

76.

77.

Which of the following parameter
determines how much the front and /or
rear wheels are turned in or out from a
straight-ahead position seen from top ?
(A) SetBack (B) Toe in/Toe out
(C) Castor Angle (D) Camber Angle
Frafafea o @ == @1 et g8 fuifa
U1 2 76 St A e o areft weft-am
A Rufd & 3 3/ BB 3 e e
JeT A AR E ?

(A) TTETER

(B) -9 / Sfg:TO

(C) HEX S

(D) ST

When viewed from side, the angle
between vertical line and kingpin center
line is called

(A) Camber Angle (B) Caster Angle
(C) Toeln (D) Tge Out

W |IE | @1 9@ 2, A ead @ 3
it g @ % i 3 01 A 1 HE
IR 7

(A) HTER HIT

(B) HEITH

(C) FA=TE

(D) sf:wor

A process in which the worn tread of tyre
is replaced with a new tread without
changing its structure is known as

(A) Tyre Inflating

(B) Tyre Retreading

(C) Tyre Balancing

(D) Tyre Rotating )
@mmﬁm%m@%ﬁmﬁ
T i weet T U 7 g8 @ wew faan

ST 8, %mﬁmm%l

(A) TRFFRM  (B) RRfRfEn
(C) TMsARM (D) TR

|
|
|
|
|
|
|
|
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78.

79.

80.

Excessive toe out in front wheels can
cause which of the following things ?

(A) the tyre’s outer shoulder to wear

(B) the tyre’s inner shoulder to wear

(C) rapid wear to the center section of
tyre

(D) No wear on the tyre

am ufgt § orefe sfyww % wrw

fforaa § S s S wha & 7

(A) TRR & FTEd Mot 3§ R

(B) 2RR % 3wl Meed A frama

(C) TRR % g ES | oSl ¥ ferama

(D) TR W13 ferama &

What does the letter ‘V’ specify in the
given tyre rating P175 /75 R14 87V ?

(A) Bead Circle Diameter

(B) Rim Diameter

(C) Speed Rating

(D) Load Rating |
fegmuerR &M P175/75R1487 VE V°
31eR Fan FféE e @ 7

(A) fssuba =@ (B) fwsaw

(C) wheifin (D) =g iem

Heel or toe wear in tyre can be caused by
which of the followmg reason ?

(A) Improper Toe Setting

(B) Under Inflation

(C) Over Inflation

(D) Excessive acceleration and braking

TR et a1 @) e Forefenfea & form

H Y B THAE ?

(A) Irgfem 2 afén

(B) = ¥R

(C) It Frvm

(D) 3refires e 37 YA

ﬁ% 109C

81.

82.

83.

The process of balancing the weight of a tire
and wheel assembly so that it travels evenly
at high speeds is knownas _ .

(A) Wheel Alignment

(B) Tyre Rotation

(C) Wheel Balancing

(D) Wheel Brakir}g .

TR 3R S ST F S I Fgfera
T 6 wfeken a1fes 7 3= i Wowme ®
I HL & ®9 H THI @1 R |
(A) EaE@n  (B) TRRUEA

(C) st (D) =t S

Wheel wobbling occurs due to which of
the following reason ?

(A) Improper Tyre Pressure

(B) Wheel out of balance

(C) Defective power steering pump

(D) Bent kingpin

afge =1 g e @ @ feg wrw

HEAR ?

(A) ST 2T g

(B) srEgfera afgan

(C) Srvqet urer afn Ty
(D) g Temrie

Which of the following statement is true

for bias ply tyre ?

(A) All plies run parallel to each other.

(B) Belts of steel mesh are used in tyré.

(C) One ply layer runs diagonally one
way and another layer runs
diagonally the other way.

(D) None of these .

ITIE TS 2R % fore frforRea o @ @i

HMHIATAR ?

(A) Tt TS T gER H THHIR T ¢ |

(B) TRRH et A & Soe %1 ITIRT v
ST R |

(C) T TS T Teh T Fored wrereft & 3f
Tal W gt T o T R

(D) TR A AE

s 3B

TR LIS XIS TeLL a0 ARAAO WRMARRD TABAD a0 TP e imS) WSS

ok
W

84.

85.

86.

Which of the following type of gearbox
used in vehicle, consist of sun and
planetary gear set ?

(A) Sliding mesh gearbox

(B) Constant mesh gearbox

(C) Synchromesh gearbox

(D) Epicyclic gearbox

T W WgH e d @ fRw R %
frreratog ¥ w7 s et i de @R € 7
(A) womefEn vw ety

(B) ®i==e Ay firmateg

(C) Termim frratad :

(D) Tz frrate

Which of the followmg is the purpose of
tyre s1ps ?

(A) increase tread life

(B) decrease noise level

(C) provide softer ride

(D) increase traction

e S A w e R w R Y ?
(A) g A gfg

(B) YN &R %t

(C) IRHERE Fart Y& &t

(D) w9 3fg

For a thorough inspection which of the

following statement proves to be true ?

(A) Tyre should be overinflated for
visual inspection.

(B) Tyre should be undermﬂated for
visual inspection.

(C) Tyre should be mﬂated as per the
manufacturer specifications.

(D) None of these

TEq e & fore Ffafga A a s

YA T Tl T g ?

(A) gra Ffww & g e =i aAfes
FETET T IR |

(B) g¥a frlieror = forg T =6t &1 gt

ST =Ry |
(€) TR fmiar fafdel % agER
GO T =R |
(D) ¥ | &g T



87. Which of the following is not a type of

88.

89.

- component ?

|
|
|
 Freferfan 3 2 = ofie s Rt e f
|
|
|
|
|

frame ?

(A) Integral frame

(B) Section - Integral frame
(C) Half - Integral frame
(D) Conventional frame

fadasha s R ¢
(A) $ue B

(B) UM - TAUe A

(C) &% ~ T A

(D) URufs H

The unsprung mass of vehicle is mainly
composed of which of the following

(A) The frame assembly

(B) .Gearbox and Propeller shaft 91.

(C) Engine and Associated parts

(D) Wheels

ET HT T FEEH GEI ®Y @
Fefafga dd e d v dard
(A) %9 IdTe

(B) firrataa 3R TR wmwe

(C) ¥ 3 Harg st

(D) wfedt

Which of the following wheel wears out
fast in passenger car having front wheel
drive arrangement ?

(A) Rear Left Side Tyre

(B) Rear Right Tyre

(C) Spare Tyre

(D) Front Left Tyre

e S ged ¥Ryl 9l anft wR o

.

(A) Tor dwe arge TR

(B) T Uge e’

(C) TR

(D) %e AR T
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90.

92.

Which of the following part is not an
integral part of Telescopic type shock
absorber ?

(A) Piston with orifice

(B) Internal Coil Spring

(C) Cylinder

(D) Lower arm

frefafea & & #97 @1 wm e
TR o TTeh TsaITe %1 3T T TET R 7
(A) Inffre % amy freen

(B) Taf Sea fam

(RS

(D) 3R 3

In which type of the suspension
arrangement rear end torque is absorbed
by the spring ?

(A) Torque tube drive

(B) Hotchkiss drive

(C) Differential drive

(D) Hook’s drive

fore wepr St frretet seree # far e o
& g srasnfa frean wmar @ 7

(A) T I §A

(B) gy grga

(C) Tewifinm grea

(D) g% =9

Which of the following is the correct full

form of E.P.S. with respect to steering
system ?

Frefofea & @ = o <afln frew &
U HEPS. H O P &q § 7

(A) Electrical Power Steering

(B) Electromagnetic Power Steering

(C) Electrical Paramagnetic Steering
(D) Electro Pneumatic Power Steering

ﬁ% 109C

93.

94.

The function of anti-lock braking system
is to

(A) decrease brake shudder

(B) prevent nosedives during braking
and thereby postpones locking of
wheels

(C) increase brake fade

(D) maintain directional control during
braking by preventing wheels from
locking

- afRea s #)

(A) o Hushd! T2l

(B) st & e g 1 4% 3k 3w
g Ul % wATThT Y e i

(©) 3 s W |

(D) ufedl =1 ot B & Topet 36T &
QA femerss e smg @

Which of the following is the correct
characteristic of brake fluid ?

(A) Brake fluid should have low boiling
point.

(B) Brake fluid should have constant
viscosity, especially in low
temperature conditions.

(C) Brake fluid should chemically react
rubber and metal parts.

(D) Brake fluid should be compressible.

- Fraforfea & @ 9 3% @ 6 ad kv

27
(A) S TS &1 FIYATH FH BT =T |

(B) o ot § fRR vamar g+ =iy,
W S aI9EE o6 fRafa |

(C) %% T ! W 3 urg & fawdi W

T ®9 | gfafa seh = e |

(D) S T FUifey g1 =nfe |

109C ,

TSR0 Wik AT TAIOND] WUAKACIS TSI MRS VIR
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95.

96.

C(A) SEHEE
(C) Tenmr Rty (D) =i Reiee

97.

Which of the following is the power

source for brake vacuum booster ?

(A) From the pressure of exhaust gases

(B) By electrical supply

(C) From the pressure difference
between the atmospheric pressure
and the vacuum pressure in the
intake manifold

(D) By means of Hydraulic pump

oo S s 3 fore PrefeRaa 4 & w.
HUEEA R ?

(A) T Al & gara @

(B) ferga 3mmyfdt gra

© mmwmw—ga

I T % 1 g IR A
(D) TTEEIfeTe U & ATeAd

During braking, the brake shoe is moved
outward to force the lining against the

(A) Brake Drum

(B) Anchor Pin

(C) Tandem Master Cylinder
(D) Wheel Cylinder

6 W H N, SH YR

% fovg omsfm =t ge 3 & fog s it
FARA T SA@ER |

(B) TR =

Excessive positive caster can __ .

(A) Improve the directional stability

(B) Result in heavier steering and less
responsive

(C) Result in lighter steering and sudden
responsive

(D) Increase the tyre wear

THEAEH Hl W

wHAE |

(A) Tesers e § gun

(B) "t hafar 3k w0 wfafrnshiesr §
gfenfia

(C) T Rﬁaﬁn M FEEH
whfremsfieran o ufonfia

(D) TR foreme % gfg



98.

The battery is an electrochemical

- component which means

(A) Ttusescurved plates instead of flat plates

(B) No need of electrolyte to initiate
chemical reaction

(C) Uses chemical action to provide
electricity

(D) It makes chemicals by mechanical means

gwwﬁga-wmﬁmm%ﬁmww

(A) I8 TR T % T YATIER el B
SR HTA R |

(B) tomfs fufrar 1€ R & e
 FAFIATEE <l 1T TETIHAT TE | |

() Tttt Srert ST o fere Tt fora

99.

100.

- IR HER |

(D) 9% Fif3e alieh! & TR SR |
Which of the following parameter is
measured by means of Hydrometer
battery test ?

(A) Mass of Electrolyte

(B) Specific Volume of Electrolyte

(C) Specific Heat of Electrolyte

(D) Specific Gravity of Electrolyte

frefafga & @ o @ Refiet T
S8 e S e @ qIT S g 7

Which of the following is an advantage

of using helical gears rather than spur

gear in transmission system.?

(A) More Load Tolerance and Noiseless
Operation.

(B) Increased Friction.

(C) Less energy lost due to heat.

(D) Less manufacturing cost as
compared to spur gear.

Frfafaa & @ o9 ar gafim foeen 8
R firR & s 3fere firm =1 wﬁn
A T T GRS R 7

(A) SR TR et 39 e g |
(B) aftfa erdur |

(C) ST 3 HIOT 5T Hott g1 |

(D) =R firer Y gern 3 %4 fafmio & |
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101.

102.

103.

When the top of wheel is tilted outward,
when viewed from the front side, then it
is called

(A) Positive Castor

(B) Negative Castor

(C) Positive Camber

(D) Negative Camber

S afg 1 A et Y R et g €,

S G IR Y @ W@ R A W
HE IR |

(A) MfFRa S (B) MR e

(C) Wi (D) Jfea

Generally, the parking brakes employed
in passenger cars are operated

(A) By means of Mechanical linkages
(B) By means of Hydraulic Actuation
(C) By means of Engine Vacuum

(D) By means of pressure of Exhaust Gases

AR W, I T | T T ik ek
LEIN RGN
(A) Fhfera fsa & wrem @

(B) ETSSITeTeh TorguaE & Hiean o
(C) 39 JRIH o WIS |
(D) Trerar Al % gare & wreaw &

The number of positive plates in a Lead

acid battery cell is

(A) One more than Negative plate

(B) Two more than Negative plate

(C) One less than Negative plate

(D) Two less than Negative plate

g Ufire St A ¥ gTeTeh Wil ht EE
qTAE

(A) e =iz & o Al

(B) INfea =z @ § it

(C) Afed e 8w wH

(D) Ma e A *H

B2 10

104. When a car is negotiating a leftward

10s.

106.

curve, which of the following condition
satisfies the functionality of differential

~ while taking a turn ?

(A) The speed of inner wheel will be less
as compared to outer wheel.

(B) The speed of inner wheel will be

.more as compared to outer wheel.

(C) The speed of both wheels will be
same while turning.

(D) None of'these statement proves to be
true.

T U R ST 3R s T MREe H R,

@ Frferiaa & @ i o fRufy die o) w

feptRaret ! Fe A TgE w2 7

(A) STEl e it gor & tiaies ufed &
pi e Rl

(B). =180 ufg? <t g § arvafies ufed it
fey arfres gt | |

(C) Ted wma SRl ufea i nfy &w gt |

(D) T8 A 18 ¥t v wer wiferg e B
7l

Which of the following part is not a part

of fluid coupling ?
(A) Turbine (B) Impellor

© Housing (D) Stator
freferea & & = @1 I Wt g =

M AE ] ?
(A) T (B) I9RR
D) ®R

(C) E=fEm

Which of the following is a correct

location for Overdrive ?

(A) Before Gearbox

(B) After Propeller Shaft

(C) In between gearbox and propeller
shaft '

(D) In between engine and gearbox

et 3 & B seeme % fie ug
WHE ?

(A) Fraetas @ v

(B) TR IR & o1E '

(C) Fraiad 3t Mer TR & fig 3§
(D) 35 3R firreiew & fiw §

109C ”‘%

110

!
!
|
|
|
|
|
|
|
|
|
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108.

109.

107. Ina single plate, dry type clutch torsional

vibrations are absorbed by

(A) Cushion Springs

(B) Diaphragm Springs

(C) Coil spring known as torsional
springs

(D) Clutch pedal

THA W, I TR & T trﬂ:c: HH

G e € € |

(A) T &g

(B) srmHM fBrw

(C) Few foin (wie s s iamsmare 1)

D ESERES

The operation of removing trapped air

from the hydraulic braking system is

knownas |

(A) Blending (B) Bleeding

© _Trapping (D) Tapping

Tgifers s freew @ welt g g w1

o™ & srfom = % &9

AT AT |

(A) =ifn (B) T

(©) 3fim (D) 2t

Damper used in vehicle is also known as

(A) Torsion bar

(B) Antiroll bar

(C) Radius rod
(D) Shock absorber

1§ e B Aot St o A @ ot
A ST R 7 |
(A) TWATR  (B) W
(C) B Te (D) TETE AIINH
. In a DC Generator the magnetic field is
produced by
(A) Armature (B) Commutator
(C) Split rings (D) Stator
T e SR e 8 g
fffa g | | |
(A) M (B) X
(C) T fa (D) VX
O



111.

112.

113.

Which of the following fluid is used in
hydraulic clutch system ?

(A) Engine Oil

(B) Transmission Oil

(C) DOT 3/DOT 4 Brake Fluid

(D) Differential Oil

TSI Fore freew # R 8 @ v @

W1 9 fepa T R 7

(A) T TS

(B) TrafEm 3Tt

(C) €1 3 / M 4 51 woge
(D) fewifire a1taa |

When the clutch pedal is depressed, the
release bearing pushes the pressure plate
fingers or lever inwards. This causes
pressure plate to move away from

(A) Release Bearing :

(B) Diaphragm Springs

(C) Friction Plate

(D) Transmission

W9 ¥ Yew qu S 8, @ Refis ferfi
TETE Wi 1 Iferdn a1 ofieR @i et H
FNUFTN R IFTAIMD@E AP
el STt R |

A) Tefw fsmfer (B) enmwm Bra
(C) T¥u e (D) grEfEH
Which of the following condition can be
said, if for a 12 Volt Lead Acid battery if
the open volt test reads 10.2 volt ?

(A) Fully Charged

(B) Fully Discharged

(C) 50% Charged

(D) 75% Charged

ffeReg 1Y i o R Frwg s aswar

2, 9 12 e i s e S % T afy
3 See qherr 10,2 Fee TG R 7

(A) G o & =Tt

(B) it g & fewmrt

(C) 50% I | ;
(D) 75% =TSt

!
|
|
!
i
l
|
|

114.

115.

116.

117.
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Which of the following component is not
an integral part of alternator ?

(A) Voltage Regulator

(B) Stator

(C) Electromagnets

(D) Commutator

frffea 3 @ 9 @1 U e H
st s R ¢ .
(A) TS fams (B) VA
©) Fggas (D) FRA
Universal Joint is an example of
pair.
(A) Lower (B) Higher
(C) Rolling (D) Sliding
Sige gH H TH
IR |
(A) Frerer (B) =W
(C) e (D) wmsfem

When the vehicle will try to move away
from its normal direction of motion and
therefore to keep it on the right path, little
more steering is required than
theoretically needed. This condition is
called

(A) Oversteer (B) Understeer
(C) Pitching (D) Rolling

T 9T T <t STt | e ¥ g e
1 HIfdmr T 3T gafere 3@ udt TR W
@R % fore, Sgifoes &9 8 arewgs 3 Oe
st gt Y srevawar St ® | 39

Ry FE AR |
(A) INTTERR (B) azgue‘m
(C) fafam (D) Tfemm

For the leaf springs used in suspension,

.Non-Fixed End connection is provided

by .
(A) Clamp plate . (B) Straps
(C) Ubolt (D) Shackle |

oive #§ yge ofie fam & fg, .-

m@m _ grves e
SETE | _

(A) ™Hwe  (B) dfEAl

(C) gaee (D) w3 ()

HE% 109C

118. If by turning of stub axles, it is possible

119.

120.

to turn the steering wheel, then steering
gear is said to be

(A) Reversible

(B) Non-Reversible

(C) Locking

(D) Slipping v

I o Tre 1 ga @ Rt = i
TG94 g, @ WAt iRt

g S8 |

(A) wierreft (B) R-wieraredf

(C) QTfh (D) feafim

In the differential the ring gear is bolted
to .

(A) Sun gears

(B) Differential Case
(C) Axle Housing

(D) Drive pinion
fewifrer & for firg =5t
aiee fraT SmaT R |

(A). = firrd

(B) fewifme

(C) T Br3fm

(D) grsa Tt

Which of the following can be reason for

hypoid gears requiring special lubricant ?

(A) Because Teeth are brittle

(B) Because Teeth are soft

(C) Because Gears run faster

(D) Because of high contact pressure
between Gear teeths

Frafafea & @ $ Trguse e 6 Ry

TS TSR] 1 HRU 8 THATE 7

(A) Fif% gfa R § |

(B) wifH AT AR E |

(C) #if firgd ah @ =era € |

(D) frer it & e 3= O quw &
HW |

109C E‘%

RN LRG3 RS THERIANIY IS TrEAGYDS T RMLID TR

[
@

121. Rate of change of cornering force per

122.

123.

T

side slip angle is called
(A) Pneumatic trail

(B) Mechanical trail
(C) Cornering power
(D) Self aligni.ng torque
i wTSe feeTa Wt W i et % aRad
1 T ! HET T ]

(A) IREE ¢

(B) AThe &

(C) TG qrerR

(D) w3 wifga el

The central part of the axle beam is offset

downwards to

(A) Give improved re51stance to end
thrusts during cornering,

(B) Give better bending strength.

(C) Give improved torsional strength
during brake application.

(D) Lower Vehicle’s Centre of Gravity.

e dn s =R

3R 33 B B |

(A) vaﬁﬂ%?ﬁmﬁnwﬁa%mﬁm
e 33 % forg

(B) &R aeh A WeH A & faw

(C) 3 ST % S Sgar wle wraed 33
% foe

(D) T8 T Tocd g 1 T F g

Clutch chattering or
noticeable |
(A) At Low speed

(B) During Acceleration
(C) Atidle

(D) While engaging the clutch
wmmafmeR @R aEe

(A) =1 7Tfd |
(B) ToROT % A

grabbing is

(C) fAfer sraear

(D) T G HLQ GHY



124.

125.

126.

In the transmission system, the provision
of slip joints allows a change in
the

(A) Angle of drive (B) Speed of drive
(C) Length of shaft (D) None of these
Tt fieen 8, féaw Sifsem &1 yeue
% SgeTT ! Al AT R |
(A) gEEHRIBI  (B) e i Ay
(C) MR H AR (D) FH Y HIS T

The main function of master cylinder is

to

(A) Adjust the extent of brake pedal free
play

(B) Boost the force to brake pedal

(C) Convert brake pedal force into
hydraulic pressure

(D) None of these

e Rretet 1 gET w1 @

(A) 5% Yo B = Y i B gEriia
R |

(B) U ! 9% A & ¢ 7t 7@ |

(C) 3% Yso1 &1 ! BESIoh gur o
gfafda it |

(D) 3 & iE T

The active material in a charged negative
plate for a Lead Acid Battery is

'(A) Lead Sulphate

(B) Lead Peroxide
(C) Spongy Lead
(D) Lead Monoxide

ﬁgméﬁ%mmﬁmmtﬁz
# ufpa vgred 2

(A) ¥ Te%e (B) T WewTsE
(C) TAEs (D) WS uHEEsS

|
!
|
|
|
|
|
|
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127.

128.

129.

Which of the following component is not
present in Front engine front wheel drive ?
(A) Differential

(B) Clutch

(C) Propeller shaft

(D) Both Differential and Propeller shaft

frafefea o @ =9 a1 "2 we 99 e
g g TR ?

(A) fewiftrre

(B) #

(C) WIUeR 9ITTe

(D) Tewifrre 3t siter s g

In four-wheel drive vehicle which of the
following component splits up the engine
power and send it to all four wheels ?
(A) Differential (B) Clutch

(C) Propeller shaft (D) Transfer box
<R i g e Frefiea 3 @ B
|1 °e §oF 1 Wk 1 i e
338 Wt = wfEe v | 7

(A) TEwifEmae (B) =T

(C) MU MR (D) TR ST

The driveshaft is connected to the
'differential and wheel hubs through
universal joints because universal joints :

(A) Absorb the vibrations transferred
from the surface of the road.

(B) Allows drive shaft movement to up
and down with the suspension.

(C) Absorb any difference in speed
between the left and right wheels
when the vehicle is turning.

(D) None of these

EEERI I EEC I e | o
%ﬁ%ﬁﬁ%@ﬁg@gﬁ%@%
EEELRASIC
(A) 5 6 Uag ¥ WHENG HIT B
IR HE E |

(B) §1§9 TR 7Ty i FAeieH o |19 W
- TR R gl g d |

(C) areT Hied way ol ofit e ufdlt &
ot ifer 3 fepelt oft Sfer 1 arewifia

FATR |
(D) T & Ig TE
109C

130. According to Motor Vehicle Act 1988,

131.

132.

any motor vehicle constructed or adapted
to carry more than six passengers, but not
more than twelve passengers, excluding
the driver is called

(A) Motorcycle  (B) Maxi Cab

(©) Car (D) Bike

WX A ATEE, 1988 F IER,
et I BIgH, B 9§ Il anf,
R aRE @ Ifes oy & & 9 H
fore fafdfa ar st fopelt oft Wex =
1 HITHE AT 7
(A) TeTETsfRe

(C) HR

(B) Tt e
(D) =15

According to Motor Vehicle Act, 1988, a
vehicle must overtake another vehicle
when deemed safe from

(A) LeftSide (B) Right Side
(C) Either Side (D) None of these
WX A AffRE, 1988 % ITER,
ghmsiaeR® - e
=1 gE aTE / 1 e ST =R |
(A) MRTEE  (B) TR UEE

(C) B TH (D) & &= 7l

According to Motor Vehicle Act, 1988, a

‘two wheeled vehicle without gear and

exceeding 50cc is known as

(A) Motorcycle  (B) Maxi Cab
(C) Car (D) Bike

W e Srftfaem, 1988 % rER, R
i amet 3t 50 Heh @ arfrs % <) ufen
STET S 1 HET W1 R 7

(A) HieEEfre - (B) At ¥w
(C) #W (D) W

169C ‘é’%
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134.

138,

(C) Half Loss

133. When the yellow light at an intersection

appears on the signal light, the driver of a
approaching vehicle should

(A) Slow down to stop.

(B) Ensure safety and drive away.
(C) Sound horn and proceed.

(D) Wait for signal of police.

I T AR W et Vvt R emge w
e & 2, o I ST % W 9
(A) &% e f w9 e =i |
(B) g gifoaa = o =rema |

(C) e o 3 s w3 |

(D) gfera = famer ) weftem =t |

What is the full form of MACT in Motor

Vehicle Rules ?

(A) Major Access of Contract
Transportation

-(B) Motor Accident Claims Tribunal

(C) Major Accident of Common Transport
(D) Minor Accident of Common Transport

et ae et 8 wehd gt s g 7
(A) sy Tiae i wge vge

(B) I gEleAT Tra =mfrertor

(C) ¥ wfae < &) gele

(D) ¥ TREE = AT gefenn

When the repairing cost of the vehicle
increases than IDV, that type of loss is

known as
(A) Cash Loss (B) Net Loss
(D) Total Loss

ST STE < HOTA %) T IDV & &g STt

2, T 3W TR % THAM ) 77 H& AT
®? |
(A) g 7l B) wWwah
©) =l (D) TN
o



136.

137.

138.

139.

According to Motor Vehicle Act, what is
the minimum age to get a license for
MCWOG ? .

(A) 16

B) 17

©) 18

(D) No such rule

T e i & S8R, MCWOG %
o wrgdie wTe 0 % AT =AW sy wn
87

(A) 16

(B) 17

©) 18 |

(D) Y@ =1 fram 7

According to Motor Vehicle Act, is
unnecessary honking while driving car an
offence ?

(A) Yes

(B) No

(C) Depends on type of vehicle

(D) No such rule

e ag7 fufem & HER, FI SR
TN T ST §H ST ST ] 2
(A) &

(B) &

(C) o1& % WehR W el e 2 |

(D) e =1 foram et |

What is the full form of IDV in Insurance ?
frurdf st i ww IR 2
(A) Insurance Declared Value
(B) Insured Declared Value
(C) Informed Declare Value
(D) Inadequate Demand Value

What is full form of HSRP ?

TITASY 1 et B 7471 3 ?

(A) High Safety Registration Plate -

(B) High Sensor Registration Plate

(C) High Security Registration Plate

(D) High Security Approved Registration
Plate

140.

R—. VALb i T BORIOS TALNBNNS WD TRIMRY NS YRR
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141.

142.

143.

According to “The Motor Vehicles Act,
1988’, ‘e-cart’ or ‘e-rickshaw’ means a
special purpose, battery powered vehicle

of power not exceeding watts.
(A) 4000 (B) 5000
(C) 6000 (D) 3000

‘T M e THR, 1988’  IER, ‘-
w2 o $-Famw &1 e v o Rwm

H, IOV IAAREAN 9.
YIRETR | |
(A) 4000 (B) 5000

~(C) 6000 (D) 3000
Which is reverse light colour in vehicle ?
(A) Yellow (B) White
(C) Red ’ (D) Orange
a1e 1 e e FeR S AT AT R 2
(A) den (B) §%g
(C) @ (D) Tl

Is it compulsory to wear (fasten) seat belt
for driving school instructor while
imparting car driving training ?
(A) Yes
(B) No ' _
(C) Exemption . in city
controlling the vehicle o
(D) Only compulsory on highway training
T SR A T SIREOT S T Grgfarm wget
e % Tt efie Soe ve e 2 2
A) & |
® & . ,
(C) T b swa s s dge
(D) et Tomrt frgror @ srframd

In the hilly areas generally traffic signs

shall be installed on

(A) both sides of the road

(B) the valley side of the road

(C) the opposite valley side of the road

(D) Anywhere on the road )

T @6 AR W AT weha
o e T e =R |

(A) S % qHI AN -

(B) T i urdt it IR

(C) T % faula ardt i 3R

(D) &S WHE off
E‘& 109C

‘area - for

144. The colour of registration number plate

145.

146.

147.

s BB

for a commercial transport vehicle is

(A) Yellow colour in white background
(B) Black colour on yellow background
(C) Yellow colour on black background
(D) Black colour on white background

T Frforfoues aitegs aTed & e dofiestor
e T T 11 T 8

(A) T%e geyfir & dren &

(B) it T <t I W T 1

(C) wreft guyiflr ot fien

(D) |%g IS W ST 71

The validity of Learning license as per
Motor Vehicle Act, 1988 is

(A) 3 Months (B) 9 Months
(C) 6 Months (D) 1 Year

e arE rffem, 1988 % IrER @k

g < e 2
(A) 3 TER (B) 9 mEm
(C) 6 wEM (D) 199

For new transport vehicle validity of

certificate of fitness is .

(A) 3 Years (B) 1 Year

(C) 5 Years (D) 2 Years

T itere ae & o frea yamr-o

Aear _®

(A) 3 =9 (B) 1a%

(©) 598 (D) 299

What is called the Gross Vehicle Weight

(GVW)?

(A) Only the weight falling on the front axle

(B) In the vehicle with three axles, the
weight falling on the first front axle
only. o

(C) The total weight falling on all the
axles of the.vehicle

(D) None of these )

6o T8 WL (GVW) Forl paa € 2

(A) I The THIS T IS AT AR

(B) &1 i It 918w #, ¥t v e
THHA WIS AR

(C) A& % |} TR T ST et WK

D) FHIFETE

i
|
|
|
i
i
!
|
|
!
|
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149.

150.

148. “Heavy goods vehicle” means any goods

carriage the gross vehicle weight of -
which, or a tractor or a road-roller the
unladen weight of either of which,
exceeds .

(A) 10,000 kg

(B) 12,000 kg

(C) 7,500 kg

(D) 5,000 kg ‘

“arl Hrer ArE” 1 31ef & 1S oft Trer ST
et e amem W, o1 St -,
e & et w1 ot a1t aom

a s g |

(A) 10,000 T

(B) 12,000 femam

(C) 7,500 femm

(D) 5,000 fam

The National Permit validity in India is

for for a motor cab.

(A) 2 Years (B) 1 Year

(C) 9 Years (D) 5 Years

IE # TP TRt Y Sy Aot e F forg
Ffm

(A) 2Tt (B) 199§

(C) 9wt (D) 5 ot

According to Indian Motor Vehicle
Rules, which type of minimum Insurance
is compulsory for any vehicle ?

(A) Comprehensive Insurance

(B) Full Insurance

(C) Zero debt Insurance

(D) Third Party Insurance

Wi B amee et & arer, Reeh oft
T % Y fhe geR &1 =Eem
arforam & 2

(A) =amass sffun

(B) ot s

(ORELE

(D) i ugg s





